Math 271 - Fall 2012 - Quiz #3

Score:
Name:

i

out of 10.

Show all work clearly and in order. Please box your answers. 10 minutes.

PICK ONE OF THE FOLLOWING:

Please indicate which one you do NOT want me to grade by putting an X through it,
otherwise I will grade the first one worked on:

1. Find an implicit AND explicit solution of the following initial-value problem:
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2. (a) Find the general explicit solution of
y = 22w+l
z2+1
This PE is scpamble svwam:?
d =R = %zlx
é‘j’_'__‘ = __w?;.,im_ 0\)( - S \3— = ’“”"a.'i”t"’ CB\ X sp dx = 8%
Bl-‘r i K2+ ‘}41 XEHI 2%
_ (2 dw
gl = § 250 5%
n \‘j“"l = nju| + C

v \"J“\ = \m\x“r‘\“”(~
» n \v‘p—\l = W (x2r1) T C

.
41) C \“(x il
Now C\v\\yﬂ w(x2a+ ) C\n(n ! e

=Ae
so ki)l = A Ge Y

*riv7o  So

= Y+ = B(x+1) A

— 2 _
Explicit Solution: | 9 = 80741 — |




